| Efficiency vs Dxy |
0.2
<

S : : : : : : : : :
LB

B
(] r : : : : : : : : :
D
“5:5555+55;;;
Bazh b b
S e
oogf
006F

T
002
OL.\,Q_IIII;IIII;IIII; |

Rati

09 56-16-10 =6 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mkFit_baseline_lowPT

| Efficiency vs Dz |

—— DQM_mkFit_baseline6iter_lowPT

N 0.2
© : : : : :
A JTC| SRR S SRS S RS A
> F ? ? ? ? ?
L R S S
o L : : : : :
.14 R A S Frrreneeee Frovremeees AR E
o : : : : :
VI - ——

OJ_.LQ_IIIIEIIII; ;IIIIiIIII!IIII

3020 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


